o|c

BTL Adjustable Speed V pulleys

Hangzhou Ocean Industry CO. Ltd.

Tel:0086-571-88842852 :0086-571-88842852
Fax:0086-571-88844378 :0086-571-88844378
E-mail:oceanindustry@vip.163.com :oceanindustry@vip.163.com



I|C Hangzhou Ocean Industry CO., LTD.

L1

b1 min : b1 min
n |
|
'
c x =1
= e () olaal | | |ElEQR
= e gelle | | O
T| = T| T
o
)
et A g
g|"
b1 max
S b1 max
| ——
—_— .
Part No. Type | Bush | 0D i L1 dmax bl .l et B & a3
min max min max SCTeWS
60 78 210x6
TB093-1 2 1108 93 36.5 29 28 13 20.5 6 85 M6x6 135 39 50 Al3x8
75 92 710x6
78 100 Al3x8
TB108-1 1 1215 108 38 30.5 32 13 20.5 80 9 M6x6 60 SP7
83 100 SPA
87 104 Z10x6
90 112 Al3x8
TB120-1 1 1215 120 38 30.5 32 13 20.5 9 104 M6x6 60 Sp7.
95 112 SPA
105 122 210x6
108 130 Al3x8
TB138-1 1 1615 138 38 30.5 42 13 20.5 110 122 M6x6 75 Sp7.
113 130 SPA
L7, 138 Al3x8
- 120 150 B17x11
TB160-1 2 1615 160 45 355 42 17 26.5 122 138 M8x8 6.5 58 79 SPA
128 150 SPB
137 158 Al3x8
140 170 B17x11
1B180-1 2 2012 180 45 355 50 17 26.5 142 158 M8x8 12.5 il 90 SPA
148 170 SPB
w | 7 e
TB200-1 2 2012 200 45 355 50 17 26.5 190 M8x8 12.5 s 90
162 177 190 SPA,
168 SPB

Tel: 0086-571-88842852 Fax: 0086-571-88844378 E-mail:oceanindustry@vip.163.com




IIC Hangzhou Ocean Industry CO., LTD.

L1

- _JX
]
|
FF4
=
€~ o
g — — €| ]2
©|O o
B o
o | 2
o
-
bl dl
Part No. Bush 0D L L1 dmax sel screws B d2 d3
min max min max
75 92 Z10x6
78 100 Al3x8
TB108-2 1215 108 73 58 bl 13 20.5 0 5 M6x6 345 485 60 Sz
83 100 SPA
87 104 7.10x6
- 90 112 A13x8
1B120-2 1215 120 73 58 32 13 205 9 104 Mo6x6 345 48.5 60 Sp7
95 112 SPA
105 122 210x6
108 130 Al3x8
- 3 3 ;5 . :
TB138-2 1615 138 7! 58 42 13 205 110 12 M6x6 345 58.5 75 SP7.
113 130 SPA
117 138 A13x8
120 150 B17x11
TB160-2 1615 160 87 68 42 17 26.5 122 138 M8x8 485 585 75 SPA
128 150 SPB
137 158 Al13x8
140 170 B17x11
TB180-2 2012 180 87 68 50 17 26.5 142 158 M8x8 54 71 90 SPA
148 170 SPB
157 177 Al3x8
160 190 B17x11
TB200-2 2012 200 87 68 50 17 26.5 162 177 M8x8 54 71 90 SPA.
168 190 SPB

Tel: 0086-571-88842852 Fax: 0086-571-88844378 E-mail:oceanindustry@vip.163.com



	封面 拷贝
	公司简介
	28 拷贝.jpg
	B451 B452
	B0801 B0802
	B841 B2401
	B0881 B0881R
	B1081 B10804
	B1104 B1151
	B1141 B1142
	B1271
	B1981 B1201
	B2151(T278)
	B2701
	B8802 B1101
	BA801 BA1081
	BA901 BA902
	BA1082 BA1141
	C9088
	C12733
	C90108
	C90901
	C90902
	GTM30 RC81
	LF-205 140
	P038
	PARTS
	PHD50 PHD75
	RC30 4RC
	RC61 RC61-8S
	RC91 RC130
	底面

